Quiz Review
6 -4 through 6 -6




\
Graph the solution set of each \
compound inequality.

1. p<4 and p> -1
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\
Graph the solution set of each \
compound inequality.

2. xX<7orx<90

E 0\ 1L Hh4 5 67



\
Graph the solution set of each \
compound inequality.

3. m>6 or m<6
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\
Solve each compound inequality. \




\

Solve each compound inequality. \
5. 2¢c-4> -6 and 3c+A < 13
/‘-4: +4 7{ ~

%o >-2 o<z
A 3

(Cy-1  omd C=4




\
Solve each open sentence. Then \
graph the solution set.

6. |x+4|=1 XKF":L K‘:Z/-":L(*
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Solve each open sentence. Then
graph the solution set.
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\
Solve each open sentence. \
(No graphing.)

8. |2d-1|<5
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\
Solve each open sentence. \
(No graphing.)

9. [3x+2|>7
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\
10. Faor the set \
{(2¢°5), (2N 16D (34},

determine which ordéred pairs
are part of the solution set of
y > X+ 3.
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Graph each inequality.
11.



Graph each inequality.

12. y> %x +4 . =
-
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